Se(3)

(mod 13)

blocks | defect matrix
G: 1 1 8 X6
2 0 131 = X2, p2
3=2 0 132 = X3, 3
4 0 781 = X4, P4
5 0 911 = x5, ¢5
6=5 0 912 = X6, 6
7 0 1951 = X9, 9
8 0 2731 = X105 P10
9=28 0 2732 = x11, P11
10 0 4551 = X12, P12
11=10 0 4552 = X13,¥13
12 0 5461 = X14, P14
13 =12 0 5462 = x15, V15
14 0 7281 = X16: P16
15=14 0 7282 = x17, P17
16 0 8191 = x18, 18
17 0 11701 = x19, P19
18 =17 0 11702 = x20, 20
19 0 13651 = xo21, 21
20 =19 0 13652 = x22, Y22
21 0 13653 = x23, p23
22 =21 0 13654 = X24, 24
23 0 13655 = X25, ¥25
24 = 23 0 13656 = X26, ¥26
25 0 18201 = xa27, Y27
26 0 18202 = x28, Y28
27 = 26 0 18203 = Xx29, Y29
28 0 21061 = x30, 30
29 0 21841 = x31, P31
30 =29 0 21845 = 32, P32
31 0 2457, = X33, ¥33
32 0 24575 = X34, P34
33 =32 0 24573 = X35, P35
34 0 27301 = Xx36, P37
35 0 36401 = x3s, P38
36 =35 0 36402 = Xx39, 39
37 0 40951 = x40, P40
38 =37 0 40952 = 41, P11
39 0 92651 = X43, P43
40 0 54601 = X44, P44




blocks

defect

matrix

41
42
43 =42
44
45
46 = 45
47
48 = 47
49
50 = 49
o1
52
53 = 52
54
55 = 54
56
o7
58 = 57
99
60 = 59
61
62
63 = 62
64
65
66
67

[eNeoNeolololeoleoleoBoNeoNeololoBololoNoNeoNeNeB el ol o NeNoNe N

94602 = 45, P45
94603 = X416, P46
94604 = Xa7, Qa7
58241 = X4s8, Pas
58245 = X49, Pa9
58243 = X50, ¥50
65521 = X51; P51
65522 = X52, P52
73711 = X53, 53
73712 = X54, 54
81901 = Xs55, ¥55
94771 = X56, P56
94772 = Xx57, P57
109201 = xss, ¥ss
109202 = X9, ¥59
116481 = X60, P60
116482 = x61, Y61
1164835 = X62, po2
122851 = X63, P63
122852 = X64, Poa
145601 = X65, Pos
145602 = x66, P66
145603 = x67, pe7
163801 = X68, P69
166401 = x69, P70
166402 = x70, @71
174721 = x71, P72

2.G :

68
69
70
71=70
72
73="1T2
74
75
76 =15
7
8 =17
79
80

O OO OO OO0 OO

8 x 6
1821 = x77, pr5
1825 = x7s, Y76
18235 = x79, P77
3641 = Xs0, P78
3642 = xs1, P79
5201 = x82, P80
9463 = xs3, P81
9464 = X84, P82
9101 = xs5, ¥s3
9102 = xs6, P84
10921 = xs7, ¥s5
10922 = xss, ¥s6




blocks
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81 =80
82
83 =82
84
85 =84
86
87
88
89 =88

91 =90
92
93
94 = 93
95
96 = 95
97
98
99 = 98
100
101 = 100
102
103
104 = 103
105
106
107 = 106
108
109

OO OO OO OO OO DD ODOD DD OODDODDDODODDODOOODDOD OO0 OO0 oo ocoococoo

10923 = xs9, ps7
10924 = X090, pss
10925 = xo1, 89
18204 = Xo4, P92
18205 = X905, Y93
27302 = Xx96, P94
27303 = x97, P95
27304 = Xo98, P96
27305 = x99, Po7
27306 = X100, o8
27307 = X101, P99
31201 = X102, ¥100
32761 = X103, P101
32762 = X104, P102
36403 = X105, ¥103
36404 = X106, P104
43681 = X107, P105
43682 = X108, ¥106
43683 = X109, P107
49141 = X110, P108
49142 = X111, P109
54605 = X112, P110
54606 = X113, ¥111
54607 = X114, P112
58244 = X115, P113
98245 = X116, P114
98246 = X117, P115
72801 = X118, P116
72802 = X119, P117
72803 = X120, P118
81902 = X121, P119
81903 = X122, ¥120
98281 = X123, P123
98282 = X124, P124
109205 = X127, P125
109204 = X128, Y126
116484 = X129, P127
116485 = X130, P128
116486 = X131, P129
140401 = x132, ¥130




blocks | defect matrix
121 0 147421 = x133,p131
122 0 147425 = X134, P132
123 =122 0 147423 = X135, P133
124 0 166403 = X136, P134
125 0 166404 = X137, 135
126 0 174725 = X138, Y136
127 0 218401 = X141, P137
Block 1: | o1 @7 s ¢36 Pa2 P68
L=x| 1 . 1=
105, = x7 . 1 . Yr =
168 =xs | 1 1 . ps =
28351 = x37 .1 1 . Y36 =
45361 = X42 1 -1 Paz =
179201 = x72 L1 Pos =
179205 = Y73 .1
196831 = Y74 L1
Block 68: | o735 @74 @o0 o1 121 P122
14, = x75 1 . P73
14 = x76 1 : P14
12601 = x92 S - $90
12602 = x03 1 1 #91
102061 = X125 11 : P121
102065 = Y126 1 - P122
179205 = Y139 Ll
179204 = Y140 vt

1057
1671
2668
44314
152524

14,
145
1246,
1246,
89604
89605



